T o AP oS

A

algha) RS485 BHOl= &4
AsE 2400, 4800, 9600, 14400 bps

Data 20| 8 Bit

0

OHN O
>

Stop bit 1, 2 Bit
Parity None, Even, Odd
ZIHE S0+ 10004
S 4! Format
%4l Format(Host = Module)
STX | MAH | MAL D1 D2 D03 D4 [Dot Point] ETX BCC
1.1 STX
1Byte 2 Packetl AI&E 22|= codeZ 0x02Hgt D& (H : hexa)
1.2 MAH/L
2t Do N8 HSE UEHHCH (B XIS XIASHT)
0 ~ 99 DHX| Jtsot0f ASCII E@Eil2 24 & 0{0F St
1.4 D1~4
8bit2| dataE LtEFHCE.
D1:2 &2 (MSB), -+, D4: £ 52/ (LSB)

1.5 Dot Point
Datall Dot Point | XIE LIEIHCY.
0 = dddd.
1 =ddd.d
2 = dd.dd
3 = d.ddd
1.6 ETX
Packetl 22 &2l= code2 0x03H gtz 18
1.7 BCC
STX ~ ETX JtXI 48t gt= BBC 2 Hlulot= &
BBC = (STX + MAH + MAL + D1 + D2 + D3 + D4 + Dot Point + ETX) & OXOFF
| sSTXx [MAH | MAL | D1 | D2 | D3 | D4 [ootpoint| ETX |
0x02 0x39 0x39 0x31 0x32 0x33 0x34 O0x30 0x03
12 20| Sl datagE B A 2 BBC g+
0x02+0x39+0x39+0x31+0x32+0x33+0x34+0x30+0x03= 0x171
BBC = 0x171 & OxOFF

|'0II

xkkkkkkkkkkkkkx datg MEA SO AIS kkkkkkkkkkkkkkkkx

xdata= BIE Al 4ByteE2 0 SBUWHLCH.
|

| o1 | b2 | D3 D4 |
Ox30 Ox30 Ox31 0Ox32 = 12 2 Display
| o1 | b2 | b3 | D4 |
0x2D 0x30 O0x30 0x33 = -3 22 Display
=2 SN s "-" JISE 1ByteZ 2tF8HCH.
| o1 | b2 | b3 | D4 |

Ox31 0Ox32 0x33 0x34 = 1234 Z Display
[ o1 [ b2 | b3 | b4 |
0x2D 0x31 0x32 0x33 = -123 22 Display




B5232+R54385
CONVERTER

Address 00

<RS-485/422 SLIMEQ S55>

¥ = ME2 MAX-4872 ALE35H0]1 RS-485,422 S

Address 01

Address 02

Address 03

Address 99

ofr

=2 JtsstES

Loader2} Module ALO|2| HE|E 4000feet(2F 1.22Km)7HX| X| &l StCt,

2

|:|1,
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